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Linear differential equations

5.1 Solve equations:

a) YV +3y+2y=4

b) ¢ —y =32

c) ¥ +2+y=a%"

d) y"—6y +9y=3r— 8"
e) yW -2 49y =+ xe”
£) vy’ —2y + 10y = 37 cos 3z
g) ¢ +y=-sin’z

3x

h) v/ -3y +2y=——
) Y3 2=

xT

. €
) -2 +y="
) Y ty=tgrtae

k) y'+4y= + 42% + 4€%® + 4 sin 2z

sin?

9.2  w(\) is a characteristic polynomial of inhomogeneous linear differential equation. Write the trial

particular solution if Q(x) is equal to:

I w\) = A2(A— 1)(A2 +4)(\2 — 2\ + 2)

a) Q(z) = 22 + 1 b) Q(z) = ze

d) Q(z) = cos 2z e) Q(z) = e” cosx

g) Q(z) = zsinz h) Q(z) = ¢® cos 2z

IL w(A) = A\ —1)2(A —2)(A2 +1)?

a) Q(z) = 22 + cosz + 3 b) Q(z) = 2% + x + 1
d) Q(x) = e"sinz + cos 2z e) Q(z) =" + e** + 22

¢) Q(z) = 23e* — x + rsin 3z

f) Q(z) = we® — 3" + 1



